wigh = o
Q * é A/ Multiplica decimales por 10,100,1000

Nombre: Fecha: Puntuacion:
7,807 x 10 = 3,317 x10 =
2,41 x 100 = 6, 133 x 1000 =
9,317 x 10 = 8,37 x10=
1,098 x 100 = 6,299 x 10 =
7,625 x 1000 = 5,904 x 100 =
2,071 x 100 = 3,16 x 100 =
6, 965 x 1000 = 10,662 x 100 =
3,942 x 100 = 7,513 x 100 =
4,971 x 100 = 10,306 x 1000 =
10,728 x 10 = 9,646 x 10 =
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* { wigh 2y D
ﬂ * é j Multiplica decimales por 10,100,1000

Nombre: Fecha: Puntuacion:
7,807 x 10 = 78.07 3,317 x 10 =33.17
2,41 x 100 = 241 6, 133 x 1000 = 6133
9,317 x 10 =93.17 8,37 x10=283.7
1,098 x 100 = 109.8 6,299 x 10 = 62.99
7,625 x 1000 = 7625 5,904 x 100 = 590.4
2,071 x 100 = 207.1 3,16 x 100 = 316
6, 965 x 1000 = 6965 10,662 x 100 = 1066.2
3,942 x 100 = 394.2 7,513 x 100 =751.3
4,971 x 100 = 497.1 10,306 x 1000 = 10306
10,728 x 10 = 107.28 9,646 x 10 = 96.46
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